SHSEE

= ISP EXRBEKESER

on

—|E
U

X B £ &t &

7 %

XB F B M

ST XKKE X&RVCBME 55

XBERA

THSFEEKEBRIE R X

X B i %

H B8 B kR U
WA HBE A S

X % £ £ #H

ES

5 W R

¥R 1=43.2m
KEBRETEH 2000 T 1K

FTREEEFE ®# &R £ B E

BHEEEESR BB =ZH FA




£ Fi B K St 3k Bifr
£z T &

= % i X B =

¥ ¥ @\ % E =%

H B B R U

th FE B R A L5 =%

(¥ B F 8 E G =%




BH

I

23]

G2 FR iz K T & B =
KEBEMEERE
K & i
(NATE—LER) =X
A £ 2
& & fh & ®
"o B OF =X
B OB A # B =®
B ¥ # # ®
B E R O & =®
Mo ROl & =®
— & & B & ®
B i % ®

&
&
2




AN i

KEE (ATE—LRBRH) (  ARfEx ) Exl)
2 ¥ - FRAE ==X v = ==X i +%8 HE

BEiEAGE

KEE

(INMTE—LFRK) ¢ 200 = 1 15 ERIfisk

KEE

(INAMTE—LFRK) ¢ 150 = 1 15 FR{fZFE

KEE

(INAMTE—LFRK) ¢ 100 = 1 15 GHIfisk

Bt

IEZ D)




KERE MR

A [iE

T ( BE iz« ) IES:ED)
L3R Bifs HeE B {f S5 HE
FiAifi (A)
A
FiAfi (B)
A
HiAfi(C)
A
it

1XHHY




KERE MR

Snslihce

A [iE

( CERIlZE ) IEZ:ED)
L3R Bifs H=E B &% HE
F AR
A
FiAifi (A)
A
FiAfi (B)
A
it

1XHHY




KERE MR

A [iE

B AE (  DERMX ) ESCED,
- By e B {if i) {EES
EXE257:0]
A
kA (A)
A
k& (B)
A
&t

1XHHY




AN i

KEIE SHBIEE FAB1E) ( 1SERfEE ) —
2,75 145 Bif HE 5 T &1 #E

B

Bt EHE 2t 1 25 Eftffi%

- % 1 35 Eftffi%

e =t 1 45 EffTi%

. % 1 55 Efli%

- % 1 65 EXMli%

HEBIER 2t 1 15 ERfli%

it

IEZ:ED)




KER FFMERE

A [iE
Y ETETE ( 25 ERME= ) E3 20
B R B 2 B {f k-] HE
* (EHE R
H8h (A N
Bt

IEZ D)




KEHE MR

AN i

HEtE (32 Effix ) ey
B R B =) B (i &4 i

EEHAR N

BB (A) N

&M (B) A

B8 (C) N




KEHE MR

AN i

el ( 45 ERMIZR ) E3 20
AT 3R B 2 B {f k-] HE
8 (B) A
87 () N
Hi A R




KEHE MR

AN i

=5 ( 55 ERME= ) E3- 50
G 2% S B 2 Hi{f ok L M=
8 (B) A
HHR(C) N
R R N




KER FFMERE

AN i

BE (62 Effix ) e
B R B =) B (i &4 i

TR N

8 (A) N

&M (B) A

8 (C) N




KEHE MR

WESIER

AN i

(

75 ERIEI R

)

IEZ:ED
£ 5 - 1R BAfL = H{ff &% BE
FeEm (A) A
A (B) A
FREm (C) A




AN i

KEIE FEAERE GERE) ( 1SFRER ) —
£, 1848 Hif HE 5 &1 e

B

Bt EHE = 1 25 Pz

- % 1 35 Pz

e = 1 45 ATz

. % 1 55 Fitifis

iy 2 : 65 Fitifiz

HEBIER = 1 75 Pz

it

IEZ:ED)




KER FFMERE

A [iE
Y ETETE ( 25 FHRIER ) E3 20
B R B 2 B {f k-] HE
* (EHE R
H8h (A N
Bt

IEZ D)




KEHE MR

AN i

HEtE (3B Fftiix ) ey
B R B =) B (i &4 i

EEHAR N

BB (A) N

&M (B) A

B8 (C) N




KEHE MR

AN i

el ( 45 FARMTEZR ) E3 20
AT 3R B 2 B {f k-] HE
8 (B) A
87 () N
Hi A R




KEHE MR

AN i

=5 ( 55 FHRIER ) E3- 50
G 2% S B 2 Hi{f ok L M=
8 (B) A
HHR(C) N
R R N




KEHE MR

AN i

BE (62 Fftfix ) ey
B R B =) B (i &4 i

EEHAR N

BB (A) N

&M (B) A

B8 (C) N




KEHE MR

WESIER

AN i

(

75 FRI &

)

IEZ:ED
£ 5 - 1R BAfL = H{ff &% BE
FeEm (A) A
A (B) A
FREm (C) A




AN i

KEIE SBIEE (HILE BR2 S 18) ( 1BcitER ) —
2,75 145 Bif HE 5 T &1 #E

B

Bt EHE 2t 1 25 GHfi%

- % 1 35 GHfi%

e =t 1 45 GRIfi%

. % 1 55 GHtifi%

- % 1 65 Gtifiz

HEBIER 2t 1 15 GHfi%

it

IEZ:ED)




KER FFMERE

RS il
Y ETETE ( 25 Gk ) E3 0
G 2% S B 2 Hi{f ok L M=
T .
RRER (A N
it

IEZ D)




KEHE MR

AN i

HEtE (3B Gftix ) ey
B R B =) B (i &4 i

EEHAR N

BB (A) N

&M (B) A

B8 (C) N




KER FFMERE

AN i

] ( 48 oitilE ) e
£ 5 - 1R BAfL = H{ff &% BE
HiEfi (B) A
53 () A
Rt E A




KEHE MR

AN i

=5 ( 55 Gk ) E3 0
G 2% S B 2 B {ff ok L M=
8 (B) A
8 (©) N
RefiE N




KER FFMERE

AN i

BE (68 Gftix ) e
B R B =) B (i &4 i

TR N

8 (A) N

&M (B) A

8 (C) N




KEHE MR

WESIER

AN i

(

75 GHRffi s

)

IEZ:ED
£ 5 - 1R BAfL = H{ff &% BE
FeEm (A) A
A (B) A
FREm (C) A




